BIG BIKE PARTS

Copyright® 2008 by Big Bike Parts, Inc. No part of
this instruction sheet may be reproduced without
the written permission of Big Bike Parts, Inc.

INSTALLATION
INSTRUCTIONS

PART NO. 63-203P LIGHT

BAR MOUNTING BRACKET
8/19/2009 YAMAHA V-STAR 1300
TOOLS NEEDED: 5MM ALLEN WRENCH 4MM WRENCH

NOTE: WE RECOMMEND USING THREADLOCKER ON ALL HARDWARE INSTALLED.
NOTE: READ INSTRUCTIONS BEFORE PROCEEDING.

INSTALLATION:

1.

(B) M8-1.25 X 16MM LONG
BUTTON SOCKET HEAD
CAP SCREW

(D) M6 LOCK WASHER

(C) M6-1.0 X 16MM LONG
BUTTON SOCKET HEAD /
CAP SCREW |

(A) LIGHT BAR
MOUNTING BRACKET

COVER FENDER TO PROTECT FROM SCRATCHING OR POSSIBLY DROPPING
TOOLS.

USE THE 5MM ALLEN WRENCH, REMOVE THE (2) M8-1.25 X 16MM LONG BUTTON
SOCKET HEAD CAP SCREWS (B) AND REMOVE EXISTING LIGHT BAR.
DISCONNECT ALL WIRES GOING TO THE LIGHT BAR AT THIS TIME. RETAIN THE
SCREWS FOR USE WITH THE REMAINING INSTALLATION.

PLACE THE NEW LIGHT BAR MOUNTING BRACKET (A) BETWEEN THE EXISTING
LIGHT MOUNTING BRACKET HOLES(E) AND THE TRIPLE TREE SURFACE , ALIGN
THE MOUNTING HOLES, AND SECURE WITH THE (2) M8-1.25 X 16MM LONG
BUTTON SOCKET HEAD CAP SCREWS (B) FROM STEP #2. TIGHTEN IN PLACE
WITH THE 5MM ALLEN WRENCH.

THE (3) M6-1.0 X 16MM LONG BUTTON SOCKET HEAD CAP SCREWS(C) AND (3)
M6 LOCK WASHERS (D) WILL BE USED TO MOUNT THE NEW BBP LIGHT BAR (F).

(F) NEW BBP LIGHT BAR

‘*(E) EXISTING LIGHT MOUNTING
BRACKET HOLE:




